RETAN 1XAERX WBW3 01

1. ROFERZMT. (S5, A1530%, B#K3, CH55)

(1) 6z = —9.6 (2) 3r—5=15—=2

(3 6z—2)—2x—-5)=-2 (4) x;2_4x3—3:1
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2. XoFFERZMT. (S5, A1 30%, B#K3o, CH55)

(1) 06z=-24—2x (2) 5x—-39=15—=z
_9) _ ) — z—1 zr+3 _1—=x
3) 3x-2)-2B-2)=10 (4) T~ =
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RETFAN 1A WBW3 01 BRERH

1. ROFERZMT. (S5, A1530%, B#K3, CH55)

(1) 6x=-96 (2) 3r-5=15—2z
60z = —96 < x 10 3x+2 = 1545 25
¢ = - 6o iz = 20
60
_ 8 r = 5
s = _8
5
(3)  6(x—2)—2x—5) =2 (4) 9052_41‘3—3:1

62 — 12 — 22 + 10 -2 < 3(r—2)—-24r—-3) = 6 —mjd x 6
do—2 = =2 3t —6—-8x+6 = 6 —hEhH
4 242 —IH -5z = 6
4 = 0
6
r = ——
5
x = 0
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2. XoFFERZMT. (S5, A1 30%, B#K3o, CH55)

(1) 06z=-24—2x (2) 5x—-39=15—=z
6x = —24—10z <~ x 10 Se+ax = 15439  <IH
6x+ 10z = —24 —IE 6x = b4
16z = —24 2
z = 9
3
r = ——
2
3)  3(x—-2)-23-x)=10 r—1 _x+3 _1-=x
3 3(-2)-203-x) (4) 1 3 p
3z—6—-6+2x = 10 B 3(z—1)—4(xz+3) = 6(1—2) <MWl x12
50—12 = 10 3xr—3—4x—12 = 6—6zx —hH
52 = 10+ 12 2 —x—15 = 6—6zx
502 = 22 —x+6z = 6415 —IH
S5 = 21
22
r = —
5
21
r = —
5
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